_II|I|B EEEEE .SMARTER.
Soterix medical

TROLLEY ASSEMBLY MANUAL

May 2022

Version 1.1




.lllllBETTER.SMARTER.

Sdterix'r.nedical

Materials
Name Quantity

Screw M5 X 35 16
Screw M8 X 55 4
Washer 4
Nut 4

L - Hex Key 1
Wrench 2

o1 (A S

» %h‘

ORI z e AT
B 22 X s - o d s

SR WA M e - Gl S e

o

PO
. 5

L Sy

HEAPERL b
ARl
DI

o) A
&L

#50n

Name Quantity
Bottom Shelf 1
Middle Shelf

Top Shelf
Support Bars
Side Frame

N(N|R |-




.I
| | BETTER.SMARTER.

Soterixmedical

Bottom Shelf: Support Bars:

Middle Shelf: Side Frames:

Top shelf:




[ |
| | BETTER.SMARTER.

Soterixmedical

Building the Trolley

Step 1: Connect the side frames to the support bar.

1 A. Using the four M8 X 55 screws, with their respective washer and nuts, attach the side frame to the
support bar. (The washer and nut go on the bottom half of the support bar.)

o




|Il
[ | " BETTER.SMARTER.

Soterixmedical

1 B. Tighten the nut using the two wrenches. The top wrench holds the screw in place while the bottom
wrench tightens the nut.

How it should look at this point:




| | BETTER.SMARTER.

Soterix modical

Attaching Shelves

Helpful Hint: The bottom shelfs’ bracket goes on the inside of the trolley. Using the above picture as a
reference, the bracket side would be on the side where the wrench is placed.

Step 1. Using the M5 X 35 screws attach the bottom shelf to the trolley. Tighten it using the L-hex key
(Allen wrench).




|
[ | BETTER.SMARTER.

Soterixmedical

1A. Screw in another M5 X 35 screw from the inside of the bracket.

i

Step 2. Repeat the same process for the middle and top shelves. Attaching the M5 X 35 screws to its
sides. The holes that are on the widths side of the middle and top shelves need to be placed on the
outside of the trolley.




][]
[ | " BETTER.SMARTER.

Soterixmedical

EMG Holder

The only two products here needed are the mounting bracket and the SH - 1S Small Holder. They can be
found in the same bag as the EMG.

Step 1. Preferably attach the SH - 1S Small Holder to the left side of the top shelf. In this example, we
mounted it on the right side.

Step 2. Attach the clear mounting bracket to the holder. The mounting bracket should go inside the hole
that is “sliced”.




_lllllBETTER.SMARTER.

Soterix medical

Once adjusted correctly the finished product should look as follows:

i
AL

K 2
JC i

IE.ig‘ 7 N
'S i 38 4

-
i BE

Y 3 AL AL .



